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QUESTION 1

Which resources can be used to create and manage from Vault Service ? Select TWO correct answers
A. Secret

B. 1AM

C. Keys

D. Cloud Guard

Correct Answer: AC

Vault

You can use the Vel servios 1o cresne pnd manage the (oicwing resourres

A vault includes the encryplion keys and secret credentials that you uwse to protect your data and connect
o secured resources. AS cusiomer-managed resources, you have complste contnol over who has scoess 1o
your vaults, kys. and secrels. You also control whirt suthorined users and sendces can do with Vault
resounces, Levels of access might range from somathing as granular as whether an individual key can be
ued by a partcular servics 1o mone broadly impactiul Blecyls management Botivities, i whether & wses
can delete o key from 8 vault 1o prevent 25 use altogether

Koys are stored on haghly avallabie and durabls Rerdwane securiy modulss (HEA) that meet Faderal
Infarmation Processing Standards [FIPS) 102 Security Level T security certifieathon Secrets and sadrat
versions ane basedd-encoded and encryphed with master encryption keys. but do not reside within the:
HSM

QUESTION 2

Which of these protects customer data at rest and in transit in a way that allows customers to meet their security and
compliance requirements forcryptographic algorithms and key management?

A. Security controls
B. Customer isolation
C. Data encryption

D. Identity Federation
Correct Answer: C

DATA ENCRYPTION
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Protect customer data at-rest and in-transit in a way that allows customers to meet their security and compliance

requirements for cryptographic algorithms and key management.

https://docs.oracle.com/en-us/iaas/Content/Security/Concepts/security_overview.htm

QUESTION 3

Oracle Object Storage achieves data durability by which of the mechanisms ? Select TWO correct answers
A. Service Gateway

B. Redundant Storage across availability domains

C. Redundant Array of IndependentDisks

D. Object Versioning

Correct Answer: BD

|How durable is data stored in Oracle Cloud Infrastructure Object Storage?

|Oracle Object Sorage i dessgned 10 b highly durabile, providing 22999000000 [Elrven 71 of annusl duratebty i achirves this by storing sach object redundantly across
Ilhwtmmun dhifferent availability domains for regms with multple svalatsbty dormairm., snd n dfterent el domastd m regiors wid 5 smgle svailability domain Esating
|otwects con be accessed as long as one of the thiee copees 1 accessable, and niew olyecls can be uplosded &5 bong &5 two copies can be successfully written. Data ntegrity is
|ar'|1vl~ll.' monsoned using chedibums, and conrupd dats & detected and sutomatcsly reparid. Ay loss in dats redundancy s detected and remedied, without outtomer

lvlEs verison of impact.

QUESTION 4

How can you convert a fixed load balancer to a flexible load balancer?
A. There is no way to covert the load balancer.

B. Use Update Shape workflows.

C. Delete the fixed load balancer and create a new one.

D. Using the Edit Listener option.

Correct Answer: B

QUESTION 5
Which volume type contains the image used to boot a compute instance?
A. Init 6 volume

B. Boot volume
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C. Startup volume

D. Block volume

Correct Answer: B

Boot Volumes When you launch a virtual machine (VM) or bare metal instance based on a platform image or custom
image, a new boot volume for the instance is created in the same compartment. That boot volume is associated with
that instanceuntil you terminate the instance. When you terminate the instance, you can preserve the boot volume and

its data

https://docs.oracle.com/en-us/iaas/Content/Block/Concepts/bootvolumes.htm
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